®1 HREHBREES

3 KRR

RE R ERHE A B
A A ERERS 0 0
B mETF R ERBRET 0 0
C mETH+ KA1 31%E 48,600 HM=KiH 15,100 14, 800
D1 mETH RFAT 1R E1%E 69,000 MR 21,000 20, 600
D2 | TETHM RFHiAT1SEIEE 83,000 MkiH 23, 300 22,900
D3 | METHM RFHiAT1SEI%E 97,000 MXiH 26, 000 25, 500
D4 | TETH RFiAT1SEI%E 114,000 FAkXiH 32,000 31, 400
D5 | HmETH EFRATGEIEE 141,000 HMER#H 35, 000 34, 400
D6 | TETH REi A1 EI%E 169,000 Fki& 42,000 41, 200
D7 | mETM RHiAT1SEIEE 221,000 MR 47, 500 46, 600
D8 | mHETA RFRFAT1SEI4E 301,000 H*xim 55, 000 54,000
D9 | HETH RFRATISEI4E 301,000 HEE 58, 000 57,000




